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Daily Assignment Planner

Grps 2&3/26

Dayl

I. Using Parentheses,
Brackets, and

Day 2

I. Patterns

Day 3

I. Understanding
Place Value

Day 4

Writing Decimals in
Expanded Form

Day 5

I. Comparing Deci-
mals (#s 1-5)

Braces 2. Patterns and Coor-
(2 Pages) dinates 2. Powers of 10 2. Comparing Deci- 2. Multiplication
mals (#s 1-6)
Day 6 Day 7 Day 8 Day 9 Day 10
I. Multiplication I. Adding and Sub- I. Adding and Sub- I. Division Word I. Areas of Rectangles
Word Problems tracting Decimals tracting Fractions Problems with a
Fraction Connec-
2. Division 2. Multiplying and Di- 2. Fraction Word tion 2.Comparing Multipli-
viding Decimals Problems cation Products In-
2. Multiplying Frac- volving Fractions
tions
Day |1 Day 12 Day I3 Day 14 Day 15
. Multiplying with I. Dividing Fractions I. Converting Meas- I. Fractions on aLine |l. Volume
Fractions: Real by Whole Numbers urement Plot
World Problems 2. Additive Yolume
2. Dividing Whole 2. Converting Meas- 2. Volume

2. Multiplying with
Fractions and
Mixed Numbers$

Numbers by Frac-
tions

urement in Real
World Problems

Love and miss you! You've got this! Mrs. Ramey
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’) Date: \
\ Name: /
/ . \
\/\ 10x 4 +5 @ Compare 2/ -6 /
{ @& Compare ond 27 - (6 + 7). Y
) and 10 x (4 + 5). (\
(\ /,
) \
/ \
\ /
\ /
/ \
/ \
\ /
) {
/ \
\ heses and /
) @ Add parenthes | {
{ @& Add parentheses to brackets 1o make this frue 1
L W . brac P
\/) make this true. 3 4100+ 20+ 5 = \)
\ 15-6-3=12 /
/ \
/ \
\ )
/ \
\ )
\ /
) , {
\ in an equarion \
r - arentheses
! @ Explain how the use of p N \,
\ offects the answer \
] /
/
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{ Pattemns >
7 |
\> Name: Date: <’
/ \
\/\ The pattem for the top row is start at zero and add 3. /\I
¢ The pattem for the bottom row is start af zero and add 6. )
\ /
) Fillin oll of the numbers ‘
( )
\ /
/ 0 9| X 18 \
) 0 12 Y 30 \
\ /
\ /
/ 1. What number goes in the box labeled X7 |
VO OAL2 H
< B. 30 ))
;o C15 \
\ ]
\ /
/2. What number goes in the box labeled Y7 \
\ /
Y A 24 \
’\ B. 28 /
; C. 36 \
( )
) {
! 3. What is the relationshio between the top number and the )
I\l bottom number? \/\
\ A The bottom number is 6 more than the top number /
/B The top number is 6 more than the bottom number \
N C The bottom number is double the top number. /
{ y
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’ ad Coordi \
{ Pattems and Coordinates ,,
) \\
{ /
\\ Name: Date: (
/ .
( Create coordinate pairs from the table and graph them on the grid. ,>
) \
/ )
’\ X 10 3 6 9 12 15 17 ‘,
(/) Y | O s 4 6 8 10 17 >
\
) Y &\
{20 /
) {
/ 28 \
\\ /\
/ 26 \
I\ 24 ‘I
) \)
(/ 22 j
\) (\
/ 20 )
\\ <
/ 168 )
\ 16 ]
; \
[ 14 )
\) (\
(, 17 /)
\ 10 ;
/) \)
{ B )
; {
/ 6 \
\\ (
1/ ) /\
\ 2 ;
; .
% 2 4 6 8 10 12 14 16 18 20 77 24 76 8 30 /
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Understanding Plaece Value
Name: Date:

A 7,825 B.8/13

1. Which statement is rue about the numbers?

A The 7 in the number labeled A is 10 times bigger than the 7 in the number labeled B,
B. The 7 in the number labeled A is 1/10 the amount of the 7 in the number labeled B.
C. The 7 in the number labeled A is the same amount @ the 7 in the number lobeled B.

2. Which statement is true clbout the numbers?

A The 8 in the number labeled A is 10 times bigger than the & in the number labeled B.
B. The 8 in the number labeled A is 1/10 the amount of the & in the number labeled B.
C. The 8 in the number labeled A is the same amount as the 8 in the number lobeled B,

A 36827541  B.26389./15

3. Which statement is frue about the numbers?

A The 7 in the number labeled A is 10 times bigger than the 7 in the number lapeled B.
B. The 7 in the number A is 1/10 the amount of the 7 in the number labeled B,

C. The 7 in the number A is the same amount as the 7 in the number labeled B.

4. Which statement is true about the numbers?

A The 1 in the number Ais 10 times bigger than the 1 in the number labeled B.
B. The 1 in the number A is 1/10 the amount of the 1 in the number labeled B,
C. The 1 in the number A is the same amount as the 1 in the number labeled B,

5. Which statement is frue about the numbers?
A The 6 in the number A is 10 times bigger than the 6 in the number labeled B.
B. The 6 in the number Ais 1/10 the amount of the 6 in the number labeled B
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‘/ C. The 6 in the number A is the same amount as the 6 in the number labeled B, \)
\ /
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Powers of 10

Date:
35x10= 9172x10=
35x100= 9.172x 100=
35x1,000= 9.172x 1,000=
12x101= 0.007x101=
12x102= 0.007x10%2=
12x103%= 0.007x103%=

*Explain the pattemn you
can use to find the

poroduct when multiplying @
whole number by a power

of 10.

480+10=
480+100=
480+1,000=

6,194+101=
6,194+107%=
6,194+10°=

“Explain the pattern you
can use to find the
quotient when dividing @

whole number by a power

of 10.
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*Explain the pattemn you
can use to find the
oroduct when mulfiplying @

decimal by a power of
10.

25.4+10=
25.4+100=
25.4+1,000=

19.31=10=
19.31+10%=
19.31+10%=

*Explain the pattem you
can use to find the
quotient when dividing a
decimal by a power of

10.
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) {
\/ \
\  Name: Date: /’
/ \
/ \
\\ //
1/ Write each decimal in expanded form. \\
\ o /
) /397 (
/ X
{ )
\ /
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\ /
/ \
/ \
\ /
\ /
/ \
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\ /
) {
/ \
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\ /
\ /
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\ /
\ /
/ \
/ \
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\ ) 136.580 !
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/ Comparing Decimals \
\

) {
\/ Name: Date; \/
\ /
/  Put the decimals in order from least to greatest: Y
\

{/ i b &S \\
\ 0./789,0.716,0.70 11.3,11.125, 11 /
{ \)
\ /
) {
/ \
\ /
\ /
/ \
< )
/\ Put the decimals in order from greatest to lecst. {
{ /
) {
/ \
& /)

068 087 0.3 297,399, 3.9 (\,

/

\

\

/

/

\

\

/

(

\)

&Y Fve friiends ran a race. Their finishing times were 12871, (/
1271, 12178, 12.781. Put their times in order from least to \’
greatest. \/

\

/

/

\
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/

(

\
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/ Multiplication Word Problems \
\ /
!} Name; Date: {
/ \
\ /
/ ) A bakery has 245 dozen cupcakes. How many individual \
\/\ cupcakes are there? ,\/
{ )
\ /
) (
/ \
{ )
\ /
) {
/ \
\\ £ l}
/ 4 A grocery store boxes oranges in cartons of 36 each. They \
Y have received 156 cartons this year How many total oranges /
f has the store received this year? i
\ /
/ \
( )
\ /
) {
/ \
{ ]
\ /
/ \
/ \
\ /
\ /
/ \
’\) Ms. Franklin is making her class budget for supplies. She needs /
/ 67 packs of expo markers. If each pack costs $12, how much \
\ will her total be for expo markers? /
{ \,
\ /
/ \
/ \
\ /
\ /
/ \
/ \
\ /
) (
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fracting Decima ,
/ Adding And Sub )
\ Y
/ Date; (
\  Name: : i )
/ ow yYour workl
{  Solve the problems below. S y /\
) )
\ 72)4H26.78 + 3819 = L
Y Duse77-8368 - /)
(/ \
\, /
\ \
| \
\ /
l /
I \
\ \
/ /
l {
| \
; )
| /
/ {
| \
\ /
I H) 26385 - 8/68 = {
\, 3) 63278 - 7948 - )
I \
\ \
/ /
/ (
I \
\ )
| /
I {
| \
\ /
| /
/ \
| \
; /
, /
I \
\ \
/ /
/ {
( |
| /
/ ©lennifer Findley (
{ - {
\) 6 . N BT 7 -~ e TN TN TN TN TN TN TN TN TN
‘{ N TN TN TN TN T TN w



Y. A\v’A~V’A\v’A\V’A\v’A~v’A\V’A~v,’..\v’A\v’A\V’Asv’A\v,A\V’A\v’A\v’& ~N—~T

\

) {
/ \
\ Multiplying and Dividing Decimals /
/ \
\ /
) Naome: Date: (
/ \
\/\ Solve the problems. Show your workl /\'
{ \
\ /
/) 1) 437 x OI3 = 7) 3682 x 096 - ‘\
{ }
\ /
} {
/ \
\ /
\ /
/ \
/ \
\ /
\ /
/ \
{ \
\ /
) {
/ \
{ )
! /
) {
/ \
\ !
) {
( 3)8887 |8 - Y) 966+ 23 )
\ /
/ \
{ \
\ /
) (
/ \
{ )
\ /
) {
/ \
{ J
\ /
/ \
/ \
\ /
\ /
/ \
/ X
\ /
) {
/ \
{ )
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v
\

/
) {
/ - \
{ g )
,  Adding and Subfracting Fractions
{ )
\ Name: Date: !
/ \
\ Solve each problem by changing the fractions to equivalent fractions /
{/ with the same denominator. \‘
\ /
) (
/ \
( )
\ /
) {
/ \
\ ]
\ /
/ \
/ \
\ /
\ /
/ \
{ )
\ /
) {
/ \
{ )
\, {
| @ /
\
(, - 2 ml — “"‘“’3 — )
\ 4 10 /
[ \
\ /
) {
/ \
{ )
\) There is an ice cream cake in the freezer On Monday, the family eats {
\/\ L5 of the cake . On Wednesday , they eat V4 of the cake. /\)
/ \
\ How much did the family eat altogether? /
/ \
! How much of the cake is left? !
/ \
¢ )
) 5N F l ©lennifer Findley (
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/) (\
( : L Jps }
\ Fraction Word Problems (
( )
\\ Name: Date; (
/
/ \
\\ 1. My sister and | ate some of a chocolate Work SpOC@ I/
I/ bar She ate 3/5 of it and | ate 1/10 of it \\
\) How much of the chocolate bar did we eat? ‘/
/ \)
(\ A. 1/2 of a chocolate bar /
/ B. 7/10 of a chocolate bar \
\\ C. 4/15 of a chocolate bar /
/ \
{ )
) {
I\ 2. My dad was painting our living room. /\
/) He started with 5/9 of a can of paint. He l\
{ used 1/3 of the can. How much paint did /)
\) he have left? (\
/
\ A. 2/9 of a can of paint /
/ B. 1/2 of a can of paint \
\\ C. 2/3 of a can of paint I/
\
I/ \
\\ (I
/ \
‘\ 3. Jennie spent 1/3 of her allowance on @ /)
/) new book and 2/5 of her allowance on (\
\\ some pencils. How much of her allowance /)
ll did she spend? \\
\\ A 2/15 of her allowance /
I/ B. 3/8 of her allowance \\
\\ C. 11/15 of her allowance (l
/ \
(\ /)
) 5N F 2 ®Jennifer Findley {
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Division Word Problems with a
Fraction Connection

Name: Date:

1.) I bought 70 pounds of meat 2.) 1 have 92 feet of rope
to share equally between 6 that | need to share equally
families. How many pounds of between & people. How
meat will each fomily receive? many feet of rope will each

person receive?

3) The pizza shop delivered 4.) We brought 50 gallons of
150 slices of pizza for a warter on our four-wheeling
class of 27 people. How camping tip. If 14 people
many pieces of pizza will go on the trip, how much

each student get to eat? water will each camper get
to drink during the trip?

5.) Create a story problem for this division problem.
208 = 10

5 N F 3 ®Jenniler Findley
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Multiplying Fractions

Name: Date:

Use the models to solve the below problems:
1)3x2/3=

2) /2 x1/4 =

3.) Use the number line to solve this problem:
2/3 x 3/4 =

I N D R
o W % U1

Use any method you like to solve these problems: (Show your work)
4) 1/6 x 4 =

5)1/2x2/10 =

- - - - -~ - -
/4\\’/\\//\\//\v/ﬁ\-’/\\//\\//\V/ \v/ \’/\\/ \\‘/ \v/ \//\\/ \\-/ \v
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Areas of Rectangles

\i st TN TN 7

Name: Date:

1.) A gardener digs a flower bed that is 8 meters long
and Y2 meter wide. What is the area of the flower bed?

2.) Sam's bathroom is 127 feet long and 14 ¥ feet wide.
What is the area of Sam's bathroom?

3.) A rectangular swimming pool measures 15 meters by
7 Vi meters. What is the area of the swimming pool?

4)) Find the area of the rectangle.

- o~ ~ - P o - C ] L P ]

_’/\\//\\/ NS TN \//\\/ So TN \//\\/ ~o TSN \//\\//\\_/ ~o
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Comparing Multiplication Products
Involving Fractions

Name: Date:

1. Circle the fraction smaller than 1. 9/5 3/5
2. Circle the fraction greater than 1. 1/2 4/7
3. Describe what happens to a whole number when you multiply it by a

fraction smaller than 1. Example: 6 x 1/4

4. Describe what happens to a whole number when you multiply it by o

fraction greater than 1. Example: 8 x &/4

5. Without solving the problem, determine which problem would have a

larger product. Explain your reasoning.

5x6/3 or5x1/3

5N |:5 b ' @lennifer Findley
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{  Multiplying with Fractions: Real World
! \
/ \
\ Problems ;
Y Name Date: {
{ )
)} 1) Shadrica had 6 feet of wiapping paper. She used 3/5 of the paper to {
{ wrap some gifts. How much does she have left? )
)

/ \
( )
\ /
/) ‘\
\ 2.) Maxwell ran 4 days last week He ran 3/8 of a mile each day. How far /
/, did he run in all? \
\ /
\ /
/ \
{ \
\) (l
(/ 3.) Alex has 3/6 of a gallon of paint. He plans to use some of it. How much \)
\) paint will he have remaining if he uses 2/3 of it? (
{ )
\ /
/ \
( )
) 4) Tom finished a job in 3/4 of an hour Jorge finished the same job in 4/5 of (
I\ the fime it took Tom. How long did Jorge take to finish the jolb? I\
) \
( )
\ /
l) (\
\\ 5.) lessica bought 8 roses for her mother. 3/4 of the roses were pink. How /)
// many pink roses were there? \\
\ /
\ /
/ \
/ A
\ /
) {
/ \
(\ /)

) 5[\1 |: 6 ©lennifer Findley (
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) Wi Ix )
/ lyi ith d s and Mixed
{  Multiplying Fraction :
) /
i Numbers (
\
/ Date: )
( Name: K /\
lve. Show your wor
/\ 1.) Solve. Show your work. 2.) Solv )
\ (
\ 3 ¥ \
’ 2% x 5 ,
{ Yix 6 Wi (
; \
) 7
I /
\ \
\ \
/ /
I /
\ \
/ \
I /
i {
] \
) )
/ /
| (
; \
l) i %, an /’
N 3)Lost night, Raguel read for 2 ¥4 hours. Mia speml\‘r/‘ 5 Qs md y (
| ' [ Ia spen
// hours as Raquel reading. How many hours did o /
\\ reading? \
/ /
; {
\ \
) )
l /
( {
\ \
) )
( {
) | e Y \
/ 4.) Aunt Jan made strawbery and grape jelly. She moci )
. Y5 i S much as
% of a cup of strawberry. She made 4 ¥ times c: o (
| ra

/ agrape jelly as strawberry jelly. How many cups of grap )
) did she make? \
/ /
(\ ©lenniler Findley (\
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Dividing Fractions by Whole Numbers

St

v
\

y
/
(
\ /
) {
\/ Name: Date: \,
\ /
/ Solve each word problem. Use the rectangle models to help you.
\ /
/ Y
\ 1.) The day after a party, ¥4 of the cake remains. If 4 people /
! share the rest of the cake equally, what fraction of the cake \
\  does each person get? ;
{ )
\ /
/ \
/ \
\ /
\ /
/ \
/ \
\ /
) ‘\
¢ 7.) A gallon jug of water is ¥4 full. If 2 children equdlly share the )
] water, what fraction of the jug does each child get? X
\ /
/ \
/ \
\ /
\ /
/ \
/ \
\ /
) {
/ \
( )
\ /
/ \
Y 3) Crecte a story problem for each of the following problems and /
/, solve. \\
\ /
\ /
/ \
{ /4 =6 1/3+3 )
) (
/ \
¢ )
) 5 N |: 7 ®lenniler Findley (
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/hole Numbers by Fractions )

T

\

!

{ Name Date: \
\ /
Il Solve each word problem. Show your work. \\
\ /
) {
L 1) Apiece of wood is & feet long. How many pieces of wood can /
] be cut from the 8 ft. piece of wood if each piece is to be 1/4 of a %
(\ foot? /)
) {
/ \
\ /
) (
( 7.) Jessica is running a 10 mile marathon. There are check points )
y every 1/2 of a mile. How many check points are there in the race? {
{ \
\ /
) \
Y 3)]acob is bringing 12 sandwiches 1o a luncheon with a large /
,’ group of people. He plans to cut each sandwich into thirds. How \’
\ many 1/3 size pieces will he have? /
/ \
/ \
\ /
\ /
/ \
[ \
\ (/
! 4) Create a story problem for each of the following problems and \)
\) solve, (/
/ \
\\ /)
/ 12 + 1/4 6+ 1/3 \
\ /
\ /
/ \
/ \
\ /
) {
(l \)
\ - /
) 5 N |:7 ©lennifer Findley (\
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Converting Measurement

S Ca Ul C ) o, Ca
R T ST WA S W i S ol L, |

Name: Date:

A hike is 8 kilometers. A construction worker

How many meters is = has a piece of wood
the hike? that is 8 feet long.
How long is the
meters wood in inches?
inches

A newbom baby (1) A party planner makes
weighs 128 ounces. S0 pints of punch.

How much does the How many cups of
baby weigh in punch has she made?
pounds?
CUps
pounds

Jillian's brother weighs The length of @

-~ -~ - .
-//\\//\\/’\\o/ \v/\\//\\//-\~/ \v/\\//\\//\\—/ \v/‘\\//\\//\\',a\v’
—— — - - - - — - —

30 kg. How many sandoox is 6 feet
grams does he weigh? How many yards long
is the sandbox?
Qrams
(/ _______yards
\) 5MD l @lennifer Findley
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/ Converting M@@SUE’@meﬂ'ﬁ’ in Real Woild
Problems

o~ - -~ ~ - - ~
’/\\//\\/"\v/ \.’/\\//\\/ D \//\\/ ol N e \//\\//\\-’

/

\
)
/
A

-

Name:

Date:

A baby elephant
weighed 251 lbs. when it
was born. If the baby
elephant gains 48
ounces a day, how much

will she weigh at the end
of 5 days?

pounds

 The bug company had 5
liters of bug spray. On
Tuesday they used 2./
liters of it. How many
milliliters of bug spray do
they have left?

milliliters

SMD1

Ca)

-~ -~ -~ -~ -~ -~ -~ -~ ~ -~
NN TN P A S VA NPT NPt A S SR g ¥

My family drinks an
average of 3.4 gallons of
milk every week. | kept this
record over 5 weeks. How

many cups of milk did my
family drink while | was
keeping records?

CUpS

If o piece of cardboard
is 6 inches long and |
ine up 110 of them,
what would be the
length of my row in feet?

feet

@lennifer Findley
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Fractions on a Line Plof

~ - -~ -~ -~ ~ ~ -~ ~
ST NN NN TN TN TN TN TN NN T

e

Name: Date:

Record the following numbers on a line plot:

4%, 3%,5 2,3 4%, 3%, 1%,5 2% 1%, 1%

AN
v

A gardener had 10 sacks containing the following amounts of soil:

Yalo,3%alb, 1 % lo, 2 %Mo, Slo, 3 Yalo, 4 Yalb, Olb, 2 Y2 lb, 3 Y4 lb

Plot the measurements on a line plot

AN

If the gardener redistributed the soil equally among the ten bags, how much
soil would be in each bag? Explain your thinking.

-— - - ~ - - b o

.//\\//\\”\\4’ \w/\\//\\/ \\4/ \-/’ \/’\\/ \N-/ \v/ \//\\//\\—/ S
- -y

'\\,/\\//\\_/"’\v/"‘\,/\\//\N/"\v/‘\\,/\\//\\/ \v/‘\\’/\\/’\\/’.\v/ -~

/ \
‘ )
\ /
) 5 M D 2 ©lennifer Findley (
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Volume

Lol L
~ \V/ \vf

1
/

-7

Name: Date:

1.) The length of this cube is one centimeter. What is the volume of
the cube?

2.) This cube is made from 36 smaller cubes that each have the
volume of one cubic meter. What is the volume of the larger cube?

3.) Examine the rectangular prism below. Each small cube is 1 cubic
inch. What is the volume of the shape?

4.) Examine the rectangular prism below. Each cube is 2 cubic miles.
What is the volume of the shape?

Ca ]
—~ — -~ - - - - — -
N NN, N TN SR Lo Pl e T O T i N T

4 \

4 )

\ - /
) 5 . M D 3 = 4 ©Jennifer Findley (
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Volume

~oTsSO

v
\

Name: Date:

Name and describe two strategies that you could use to find the volume of this
rectangular prism.

Find the volume.

4 cm 9 ft.

2 cm | 2 ft

8 cm O ft

Miriam has o freasure box with a base of 12 inches by 4 inches. The height is &
inches. What is the volume of her treasure box?

A 2" grade class has a fish tank that is 25 inches long, 12 inches wide, and 15
inches deep. What volume of water can the tank hold?

- - - -~ - - - o -~
i I Tl Nt P N Tl SR DL i e R YR G N L

-~ - -~ - -~ -~ - —
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1
\ /

) . {
/ Additive Volume \
\, {
/ Name: Date: \
\\ //
II 1. A cake maker made a wedding cake with two layers. \\
\\ * The bottom layer. base =64 inches? h =2 inches //
I/ «  The top layer: base =36 inches? h =2 inches \\
\) (/
/ What was the total volume of the cake?
( }
\ /

! {
/ \
\\ 2. What is the total volume of the figure below? ,’
/ \
/ \
\ V=52 inches 3 /
\ /
/ \
{ )
\ | | /
/) Lm V=64 inches 3 \
( }
\ /

} {
/ \
\\ /I
ll 3. A student stacks 3 right rectangular prisms on top of each other. \\
\\ e The bottom shape: L= 22 cm. W = 4 cm. H= 5 cm. //
I/ e The middle shape: L= 18 cm. W =4 cm. H= 6 cm. \\
\ ° Thetopshopel=12cmW=2cmH=8cm /
) What is the total volume of the student’s shapes? (\
{ )
\ /

) {
{ )
\/ 4. Explain the steps you would take to find the total volume of a stack of 4 \/
( rectangular prisms. )
\ /
/ \
/ \
\ /
) {
/ \
{ )
\’ SMD5S ‘/
‘{ N TN TN TN TN T N P TN TN P T N T N P TN TN T \Va"svf"s@ ]enjf;\rindliy’\\v -~ \X



